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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Consideration. Under what circumstances is the 

object or consideration of a contract deemed unlawful ? 

Give illustration. 

izfrQy dh ifjHkk”kk nhft,A fdu ifjfLFkfr;ksa esa fdlh 

vuqcU/k ds mís’; vFkok izfrQy voS/kkfud ekus tkrs gSa \ 

mnkgj.k nhft,A 

2. Define an agency. How is it created and how is it 

terminated ? 

,tsUlh dh ifjHkk”kk nhft,A ;g fdl izdkj mRié gksrh gS 

vkSj fdl izdkj lekIr gksrh gS \ 

3. Who is unpaid seller ? What are his rights against the 

buyer personally and against the goods ? 

vnŸk foØsrk dkSu gS \ Øsrk ds fo#) O;fDrxr :i ls vkSj 

eky ds izfr mlds D;k vf/kdkj gSa \ 

4. What do you understand by Negotiable Instrument ? 

What are its characteristics and presumptions ? 

fofue;lk/; ys[ki= ls vki D;k le>rs gSa \ bldh 

fo’ks”krk,¡ rFkk ekU;rk,¡ D;k gSa \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Distinguish between Cheque and Bill of Exchange. 

pSd rFkk fofue; i= esas vUrj crkb,A 

2. Explain the reasons as to why consumer protection is 

needed in India. 

mu dkj.kksa dks le>kb, ftuds dkj.k Hkkjr esa miHkksDrk 

laj{k.k dh vko;’;drk gSA 

3. Differentiate between Agreement and Contract. 

Bgjko rFkk vuqcU/k esa vUrj crkb,A 

4. Discuss briefly the rights and duties of Pawnee. 

fxjoh j[k ysus okys ds vf/kdkj rFkk drZO; la{ksi esa 

crkb,A 

5. Explain the characteristics of contract of sale of goods. 

oLrq&foØ; vuqcU/k ds y{k.k crkb,A 

6. Explain the meaning of Contract of Indemnity and 

Contract of Guarantee. 

gkfuj{kk vuqcU/k rFkk izfrHkwfr vuqcU/kksa ds vFkZ crkb,A 
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7. What do you understand by Crossing of Cheque ? 

pSd ds js[kkadu ls vki D;k le>rs gSa \  

8. State the features of Consumer Protection Act. 

miHkksDrk laj{k.k vf/kfu;e dh fo’ks”krk,¡ crkb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Consumer Protection Act has been enforced in India 

from 15th April, 1987. (True/False) 

Hkkjr esas miHkksDrk laj{k.k vf/kfu;e 15 vizSy] 1987 ls ykxw 

gqvk gSA   ¼lR;@vlR;½ 

2. District Forum can settle disputes upto ` 20 lakh. 

(True/False) 

ftyk eap ` 20 yk[k rd ds fooknksa dk fuiVkjk dj ldrk 

gSA    ¼lR;@vlR;½ 

3. Placing of ornament in a Bank is a Contract of 

Bailment.   (True/False) 
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cSad ykWdj esa vkHkw”k.k j[kuk fu{ksi vuqcU/k gksrk gSA 

    ¼lR;@vlR;½ 

4. The number of contracts in a contract of guarantee is 

two.     (True/False) 

xkj.Vh ds vuqcU/k esa nks vuqcU/k gksrs gSaA ¼lR;@vlR;½ 

5. All contracts without consideration are void.  

(True/False) 

lHkh vuqcU/k fcuk izfrQy ds O;FkZ gksrs gSaA ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. An agreement enforceable by law is a ............ . 

,d Bgjko tks jktfu;e }kjk izorZuh; gS 
-------------------- 

gksrk gSA 

7. A contract of insurance is a contract of ........... . 

,d chek dk vuqcU/k 
--------------------  

vuqcU/k gksrk gSA 

8. A bill drawn in favour of a minor is ............ . 

,d vo;Ld ds i{k esa fy[kk x;k foi= 
-------------------- 

 gksrk gSA 

9. The right of resale is available to an ............. . 

iqu%foØ; dk vf/kdkj 
--------------------  

dks feyrk gSA 

10. A contract of agency is ............ without consideration. 

,d ,tsUlh dk vuqcU/k fcuk izfrQy ds 
--------------------  

gksrk gSA 
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